BOAERE TIRIE (201« fFa)

A il (

@ Egﬁ'(f(x) :x3 0);’%;'%;&)&5&&)@331/\0
f/(x)=1hin‘}w -

h
flx+h) —flx) =(x+h)°—2°
=(x3+3x%h+3xh’+ h°)—«°

=3x%h+3xh*+ h®
= h(3x%+ 3xh + 1?)
2 2
FoT £/(x) =lim f(x+h) — f(x) —1lim h(3x%+3xh+ h?)
-0 h -0 h

= Ihll’rol (3x%4+3xh+ h?=34*

B S (x) =3x* OERIH A RO E T,
flx+h) — f(x) =3(x+ h)?—3x*
=3{(x*+2xh+h? — 2%
=3(2xh+ h*) =3h(2x+h)
EoT  fx) =1hil{]1w
=3%X2x=6x

=1im3(2x+ k)
=)

Bl BE%K f(x) =x%+x OEEKERDET,
Fla+h) = f(2) ={(x+ )P+ (x+ W} = (2" +2)
={(x+h)? =2 +{(x+h)—x]
=(x*+2xh+h*—x%)+h
=2xh+h*+h=h2x+h+1)
Eo<  fn=lim h(2x-;h+1)
=Ihi£r01(2x+h+l):2x+1

O f(x) = x DEBEZ KD S,

f/(x>:1imw 2B\ T
=) h
flx+h) —f(x) =(x+h)—x=h
IoT Fr0) = lim LEER =S e B
70 h 0 h
=liml=1
0
L7=ml’oT f(x)=1

2B KoOKE#S Las,
(1) y=2-3x"+1 @) y=xx+5)
BE (1) y'=(x"—32+1)=(x% -3y +(1y
=3x2—3%x2x+0=3x2—6x
(2) FUzRETHE  y=x"+5x
EoT  y/=(x"45x) =(2% +5(x)
=2x+5Xx1=2x+5

@RDBEAEMIY LIRS,
1) y=4x* 2) y=—2x
3/ =(4x% =4(x% =4 x 2x=8x

@) y=x'—2
y'=(x*=2)=(x%) —(2) =32

(B) y=x"—x

y'=(x?—2)=(x% — (v =22—1

6) y=—-5x"—3x+6
y/ =(—=5x3—3x+6)
=—5(x°) —3(x) +(6)
=—-5x3x2—3x1=—15x%*-3

6) y=x2°+2x+3
' =(x242x43) = (2% +2(x) +(3)
=2x+2X1=2x+2

l 3 l 2 .3 i 2
0 y=ga+5x ® y=—x'+gx+x
/_ 3 i 2>/7l 3y i 2y/ ’_ 3 é 2 !
y_(3x+2x —3(x)+2(x) y—<7x+2x+x>
:%X3X2+lxzx =7(x«'*)’+%(x2)/+(xv
=2tz :—3x2+%x2x+1

=—3x24+3x+1

FRERE I (
9 y=x(z-1)
Fil w5 & y=x>—x
LT v =(x—x) =% = (2
=3x%—1

@R DBIKE WA L,
1 y=-3
y'=0

B) y=—3x*+T7x+5
y/'=—=3-22+7=—6x+7

(5) y=(x+1)5x+1)
y=(x+1)5x+1)=5x+6x+1
LoT y'=5-22x4+6=10x+6

7 y=(@2z-17
y=02x—1)72=4x>—4x+1
LoT y'=4-2x—4=8x—4

(1) flx)=32"—2x+4, f/(0)
f(x)=6x—2
LoT f0)=6-0—2=-2

3) flx)=5x—1, f'@3)
f(x)=5

f(x)=—6x2—10x—1
JoT

=-5

7) flx)=(x=2)x+2), f'(=6)
flx)=(x—2)x4+2)=x"—4
EoT f(x)=2x

(5) flx)=—2x>~5x2—x+7, f'(-2)

f(=2)=—6-(—2)2—10-(—2)—1

WP Z AT f'(—6)=2-(—6)=—12

10) y=(x+3?

Fiil %R D &
kot v =(x*+62+9)
= (2 +6(x) +(9)
=2x+6X1=2x+6

y=x"+6x+9

(2) y=4x+3

’

4) y=x°—5x242x+1
9’ =3x2—5.2x04+2=3x"—10x+2

6) y=(x+2)x—1)
y=(x+2)(x—1)=x"+x-2
LoT  y=2x+1

®) y=xx—4y
y=x(x—4)"=x(x*—8x+16)

=x3—8x%416x
oT y'=3x"—8-2x+16
=3x2—-16x+16

O RDBIFUZHDNT, 52 bW REE kD &,

@ Sflo=x*+4x+3, f(1)
S(x)=3x"+4
EoT  f/(1)=3-12+4=7

6) f(x)=(x—2)3x+5), f(0)
flx)=(x—2)3x+5)=3x—x—10
EoT f(x)=6x—1

wzle f0)=6-0—1=—1

©® flv)=(2x=37 f'(4)
f(x)=(2x—3)?=4x°—122+9

f(x)=8x—12

f/(4)=8-4—-12=20




BRI TEE (201 : ) i )i
@ R DK K 1 2

WO BIE A Wby @ e
(1) y=(x*+4)@2x—1) -

y/ = (22 4)(2x— 1)+ (£ + 4)2x— 1) o lxx2y 2250 1 dx
=2x(2x—1)+(x*+4)-2 (z 42 (a*=5F (427 (-5
=6x>—2x+8 1

P
@ y= 22 42x—5
,_ (x=1Y(x*+2x—5)—(x—1)(x*+2x—5)
@ y=@x*+1)(x*+52+2) - (x*+2x—5)

' =Bx*+1)(x*+5x+2) +(3x*+ 1)(x* +5x +2) 1 (4205 — (=122 +2)
=6x(x%+5x+2)+ (322 +1)(2x4+5) N (22422 —5)*
=122°+45x° + 142 +5  —x*42x-3

T (x%+2x—5)?
3) y=(x"+4x)(x*-5) 4) y= x*+1

/= (204 42 (= 5) + (2 + dx)( 22— 5 241
=(3x%44)(x2—5)+(x*+4x)- 22 /= )+ D = (4 e+ 1)
=5x*—3x2-20 (417

_ 2x(x*+1)—(x241)-3x*
- (x°41)2
—x'—3x%42x
(4) y=(x+l)(x4+21f3—3ff2+x—4) | 4 RS

y=(x+1)(x 4+ 22° =322+ x—4) +(x+ 1)(x* +224° = 322+ x—4)
=1-(x*' 4243 =322+ x—4)+(x+1)(4x°+ 62> —62+1) X
=52t +120° — 3x%—dx—3 R T

y= (x)(x*—8x%+15) — x(x* — 8x2+15)

6) y=(x2—x)(x*=T7x+4)
y=(x2—2) (2" = Tax4+4) + (22— 2) (2" =Tx+4)
=2x—1)(x'=Tx+4)+ (22— x)(42°=7)
=6x°—5x*—21x24+22x—4

[6] @RDOBIHZEMIE S,
1) y=0Bx+2)(x*-3)
¥/ =3x+2)(x2—3)+(3x+2)(x2=3)
=3-(x*=3)+(3x+2)-2x
=9x"+4x—9

©2) y=(2x2—1)(x*—3x+14)
v/ =222 —=1)(x*—3x+4) + (22> —1)(x®*—3x+4)
=4x(x®—3x+4)+(22°—1)2x—3)
=8x7—18x%+14x+3

@) y=("—2)(x*+4)
¥ =(x*— ) (22 + 4) + (x°— )22+ 4)
=322 —1)(x%+4)+(x°—x)- 2«
=5x"+9x*—4

@) y=(2x—1)x"+5x°-3)
y'=2x—1)(x*+52%—3) +(2x— 1)(x" +5x*—3)
=2-(x"+5x%—3)+(2x — 1)(4x” + 10x)
=10x"—4x*+30x*—10x—6

6) y=(x24+x)(x*=3x+1)
v/ =(x24+ 2 (2" =324+ 1)+ (22 + 2)(x* =32+ 1)
=224+ 1)(x*—3x+1)+ (224 x)(42° - 3)
=6x°+5x"—9x*—4x+1

@ DEIR AWM X
2
@ = 22 +3
, o 2Ax*+3) 4x

(22432~ (2243)?

(x*—8x%+15)?

1-(x"—8x%+15) — x(4x° — 16x)
(x*—8x2+15)?

—3x'+8x%+15
(x'—8x2415)%

O KD BEE B L.

@

@

®)

y=

y'=

y=

y' =

1
4z
S A e
(*+ 2?2 (2*+2)?

(x93 7{73()5274)’}77 1 N 6x
T (k=32 (x%—4)?

2P—x+1
(0)(x*—x+1)—a(x*—2+1)

(22— x+1)%

Cle(xP—x+]) 221

(22— x+1)?
—x241

(22— x+1)%

22%+x

’—

y=

’

y' =

222

(2424 x)(x2—2) — (222 + x)(x2—2)

(x*—2)?
(4x+1)(x2—2) — (2224 %) - 2x

(x2—2)*

—x2—8x—2

(x%—2)?

J62

4x*—4x+3
(x?)/(4x*— 42 +3) — 2%(4x* — 4x +3)

(422 —4x+3)?
2x(4x%—4x+3) — x%8x—4)

(42> —4x+3)?
—4x%4+6x

(4x%—4x+3)?



